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QUESTION 1

Which of the following would be the TWO most appropriate examples of entry criteria documented in the system
integration test plan?

A. The percentage of decision coverage achieved during unit testing.

B. The availability of the latest version of the capture-replay tool (for testing the interface with the newly developed test
management tool).

C. The sign-off of a performance test software release note (test item transmittal report) by both development and
testing showing that system performance meets the specified acceptance criteria.

D. The percentage of acceptance test procedures scheduled for execution.
E. The percentage of requirements coverage achieved during system integration test.

Correct Answer: AB

QUESTION 2

In general, why is it NOT a good idea to estimate the testing effort based only on a percentage of development effort?
Identify THREE valid reasons.

A. The quality of the development estimate may be poor.

B. In general bottom-up estimation is always better than top-down estimation.

C. The percentage based technique only applies to the V life cycle model.

D. Using the same percentage every time does not address the level of risk of the application to be tested.

E. The maturity of the organization, e.g. the quality of the test basis, quality of development testing, configuration
management, availability of test tools, also influence the effort needed for testing.

F. It builds on large set of historical data
G. The result is almost always a too low estimate for the required test effort

Correct Answer: ADE

QUESTION 3
Which THREE activities would be valid steps during the development of the test strategy?

A. Identify test staff members that will be involved in the system test
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B. Define test career paths

C. Understand the software development life cycle used by the software house
D. Assess the testing that needs to be done to minimize the risks

E. Issue the test strategy document for review

F. Define a master test plan template

G. Perform a project risk analysis

Correct Answer: CDE

QUESTION 4

Which of the following is a characteristic of good testing in any life cycle model?
A. Analysis and design of tests begins as soon as development is completed.
B. Some, but not all, development activities have corresponding test activities.
C. Each test level has test objectives specific to that level.

D. All document reviews involve the development team.

Correct Answer: C

QUESTION 5

Which of the following are valid reasons for adopting a different life cycle (from the V model), for increments after the
first year?

i. We do not have a clear understanding of the requirements from a customer perspective.

ii. We see the risk of delivering requested functionality late as being higher than the risk of delivering a lower quality
product.

iii. We do not have a budget for additional regression testing which is needed to ensure that existing functionality is not
compromised by future iterations.

iv.
The company test strategy does not fit well within the V life cycle model.
A.

(i) and (ii)
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B.
(i) and (iv)
C.
(ii) and (ii)
D.
(i) and (iv)

Correct Answer: A
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